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•••• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 15 rFkk iz'u 41 gSaA  
 Please make sure that the printed pages in this question paper are 15 in number 

and it contains 41 questions. 
•••• iz'u-i= esa lcls Åij fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 
 The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 
strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 
complete question paper, no claim in this regard, will be entertained after 

examination. 
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uksV % uksV % uksV % uksV % (i) lHkh iz'u vfuok;Z gSaA lHkh iz'u vfuok;Z gSaA lHkh iz'u vfuok;Z gSaA lHkh iz'u vfuok;Z gSaA     

  All questions are compulsory.  

 (ii) cgqfodYih; iz'uksa ds lghlghlghlgh fodYi viuh mÙkj-iqfLrdk esa fyf[k,A 

  Write the correct option in your Answer-book of the multiple choice type 

questions. 

 (iii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA  

  Marks are indicated against each question.   

 (iv) iz'uksa ds mÙkj vadkuqlkj gh nhft,A  

  Answer the questions according to their marks. 

1. xkfM+;ksa esa mlds }kjk r; dh xbZ nwjh dks iznf'kZr djus okyk ;a= gS % 1 

(A) LihMksehVj  

(B) lksuksehVj 

(C) vksMksehVj  

(D) xSYoSuksehVj 

A device used to measure the distance in vehicles is known as : 

(A) Speedometer  

(B) Sonometer 

(C) Odometer  

(D) Galvanometer 
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2. Roj.k dk ek=d gS % 1 

(A) ehVj@lsd.M  

(B) ehVj@lsd.M2 

(C) fdyksehVj@?k.Vk  

(D) ehVj lsd.M2 

The S.I. unit for acceleration is : 

(A) Meter/Sec  

(B) Meter/Sec2 

(C) Km/hour  

(D) Meter Sec2 

3. vxj dksbZ oLrq o`Ùkh; iFk ij ,dleku pky ls pyrh gS] rks mldh xfr dgykrh gS % 1 

(A) ,dleku o`Ùkh; xfr  

(B) vleku o`Ùkh; xfr 

(C) ,dleku oØ xfr  

(D) vleku oØ xfr 

If an object moves in a circular path with uniform speed, its motion is called : 

(A) Uniform circular motion  

(B) Non-uniform circular motion 

(C) Uniform curved motion  

(D) Non-uniform curved motion 
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4. oLrqvksa }kjk viuh xfr dh voLFkk esa ifjorZu dk izfrjks/k djus dh izo`fÙk D;k dgykrh gS \ 1 

(A) cy   

(B) laosx 

(C) tM+Ro   

(D) buesa ls dksbZ ugha 

The natural tendency of objects to resist a change in their state of rest or of 
uniform motion is called : 

(A) Force  

(B) Momentum 

(C) Inertia  

(D) None of these 

5. oLrq dk --------- mlds nzO;eku ,oa osx dk xq.kuQy gksrk gSA 1 

(A) Roj.k   

(B) cy 

(C) dk;Z   

(D) laosx 

The ............. of an object is the product of its mass and velocity. 

(A) Acceleration  

(B) Force 

(C) Work  

(D) Momentum 
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6. i`Foh ds ry ij 'g' dk eku fdruk gksrk gS \ 1 

(A) 9.8 eh0@ls0  

(B) 9.8 eh0@ls02 

(C) 9.8 ehVj  

(D) 9.8 lseh@ls02 

The value of 'g' over earth surface is : 

(A) 9.8 m/sec  

(B) 9.8 m/sec2 

(C) 9.8 meter  

(D) 9.8 cm/sec2 

7. i`Foh }kjk yxk, tkus okys xq#Rokd"kZ.k cy dks -------- dgrs gSaA 1 

(A) ?kuRo   

(B) iz.kksn 

(C) xq#Ro cy  

(D) xq#Rokd"kZ.k cy 

Force of gravitation due to the earth is called : 

(A) Density  

(B) Thrust 

(C) Gravity  

(D) Gravitation force 
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8. xq#Rokd"kZ.k dk lkoZf=d fu;e fdl oSKkfud us [kkstk \ 1 

(A) tksgkal dsIyj  

(B) vkbtd U;wVu 

(C) vkfdZfeMht  

(D) buesa ls dksbZ ugha 

Which scientist discovered universal law of gravitation ? 

(A) Johannes Kepler  

(B) Isaac Newton 

(C) Archimedes  

(D) None of these 

9. fdlh oLrq dk panzek ij Hkkj i`Foh ij blds Hkkj dk ---------- gksrk gSA 1 

(A) 
3

1   (B) 
4

1  

(C) 
6

1   (D) 
4

3  

Weight of a body on moon is ............. of its weight on earth. 

(A) 
3

1   (B) 
4

1  

(C) 
6

1   (D) 
4

3
 

10. /kuq"k dh vkÑfr esa ifjorZu ds dkj.k mlesa lafpr fLFkfrt ÅtkZ] rhj dks -------- ÅtkZ iznku djrh 
gS ftlls rhj xfr'khy gksdj nwj tk fxjrk gSA 1 

(A) xfrt   

(B) Å"ek 

(C) izdk'k   

(D) fLFkfrt 
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The potential energy stored in the bow due to change of its shape is thus used 
in the form of ............. energy in throwing off the arrow. 

(A) Kinetic  

(B) Heat 

(C) Light  

(D) Potential 

11. fd;k x;k dk;Z = cy × .......... 1 

(A) Roj.k   

(B) osx 

(C) pky   

(D) foLFkkiu 

Work done = force × ................ 

(A) Acceleration  

(B) Velocity 

(C) Speed  

(D) Displacement 

12. fdlh ,dkad {ks=Qy ls ,d lsdaM esa xqtjus okyh /ofu ÅtkZ dks --------- dgrs gSaA 1 

(A) vk;ke   

(B) vko`fÙk 

(C) /ofu dh rhozrk  

(D) rjaxnS?;Z 

The amount of sound energy passing each second through unit area is called 
............. 

(A) Amplitude  

(B) Frequency 

(C) Intensity of sound  

(D) Wavelength 
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13. vusd vko`fÙk;ksa ds feJ.k ls mRiUu /ofu dks --------- dgrs gSa] vkSj ;g lquus esa lq[kn gksrh gSA 1 

(A) Loj  (B) 'kksj 

(C) rjaxnS?;Z (D) Vksu 

The sound which is produced due to a mixture of several frequencies is called 
a ................ and is pleasant to listen. 

(A) Note  (B) Noise 

(C) Wavelength (D) Tone 

14. rkieku dk S.I. ek=d D;k gksrk gS \ 1 

(A) ikLdy  

(B) lsfYl;l 

(C) dsfYou  

(D) U;wVu 

S.I. unit of temperature is : 

(A) Pascal  

(B) Celsius 

(C) Kelvin  

(D) Newton 

15. fuEufyf[kr esa ls dkSu-lk ifjorZu jklk;fud gS \ 1 

(A) eD[ku dk ,d crZu esa fi?kyuk  

(B) ty dk mcydj ok"i cuuk 

(C) ty esa lk/kkj.k ued dk ?kqyuk  

(D) [kkuk idkuk 

Which of the following are chemical change ? 

(A) Melting of butter in a pan  

(B) Boiling of water to form steam 

(C) Dissolving common salt in water  

(D) Cooking of food 
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16. fuEufyf[kr esa ls dkSu ^fV.My izHkko* dks iznf'kZr djsxk \ 1 

(A) ued dk ?kksy  

(B) nw/k 

(C) dkWij lYQsV dk foy;u  

(D) buesa ls dksbZ ugha 

Which of the following will show 'Tyndall effect' ? 

(A) Salt solution  

(B) Milk 

(C) Copper Sulphate solution  

(D) None of these 

17. /kkrq dk mnkgj.k gS % 1 

(A) lksuk   

(B) pk¡nh 

(C) rk¡ck   

(D) mijksDr lHkh 

Example of metal is : 

(A) Gold   

(B) Silver 

(C) Copper  

(D) All of the above 

18. jnjQksMZ dk vYQk d.k izdh.kZu iz;ksx fdldh [kkst ds fy, mÙkjnk;h Fkk \ 1 

(A) izksVkWu   

(B) U;wVªkWu 

(C) bysDVªkWu  

(D) ijek.kq dsanzd 
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Rutherford's alpha-particle scattering experiment was responsible for the 
discovery of :  

(A) Proton  

(B) Neutron 

(C) Electron  

(D) Atomic Nucleus  

19. lksfM;e dk lghlghlghlgh bysDVªkWfud foU;kl fuEu esa ls dkSu-lk gS \ 1 

(A) 2, 8   

(B) 2, 8, 1 

(C) 2, 1, 8  

(D) 8, 2, 1 

Which one of the following is a correct electronic configuration of sodium ? 

(A) 2, 8   

(B) 2, 8, 1 

(C) 2, 1, 8  

(D) 8, 2, 1 

20. U;wVªkWu dh [kkst fdl oSKkfud us dh \ 1 

(A) ts0 pSMfod  

(B) ts0 ts0 VkWelu 

(C) bZ0 xksYMLVhu  

(D) buesa ls dksbZ ugha 

Which scientist has discovered neutron ? 

(A) J. Chadwick  

(B) J. J. Thomson 

(C) E. Goldstein  

(D) None of these 
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21. dSalj ds mipkj esa fdl leLFkkfud dk mi;ksx gksrk gS \ 1 

(A) vk;ksMhu  

(B) dksckYV 

(C) Dyksjhu  

(D) cksjkWu 

The isotope which is used in the treatment of Cancer is : 

(A) Iodine  

(B) Cobalt 

(C) Chlorine  

(D) Boron 

22. ,d ijek.kq ds ukfHkd esa mifLFkr izksVkWuksa vkSj U;wVªkWuksa dh dqy la[;k ds ;ksx dks --------- dgk tkrk 
gSA   1 

(A) ijek.kq la[;k  

(B) nzO;eku la[;k 

(C) leLFkkfud  

(D) leHkkfjd 
The ............ is defined as the sum of the total number of protons and neutrons 
present in the nucleus of an atom. 

(A) Atomic number  

(B) Mass number 

(C) Isotopes   

(D) Isobars 

23. izR;sd rRo ds ijek.kq dh ,d fuf'pr la;kstu 'kfDr gksrh gS] ftls --------- dgrs gSaA 1 

(A) la;kstdrk  

(B) ijek.kq la[;k 

(C) nzO;eku la[;k  

(D) leLFkkfud 
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An atom of each element has a definite combining capacity called its ........ . 

(A) Valency  

(B) Atomic number 

(C) Mass number  

(D) Isotopes 

24. fdl dksf'kdk vaxd dks vkRe?kkrh FkSyh dgk tkrk gS \ 1 

(A) ykblkslkse  

(B) ekbVksdkWfUMª;k 

(C) jl/kkfu;k¡  

(D) (A) o (B) nksuksa 

Which cell organelle is known as suicide bag ? 

(A) Lysosomes  

(B) Mitochondria 

(C) Vacuoles   

(D) Both (A) and (B) 

25. izksdSfj;ksVh dksf'kdk esa xq.klw= fdrus gksrs gSa \ 1 

(A) 10  (B) 8 

(C) 5  (D) 1 

How many chromosomes in Prokaryotic cell ? 

(A) 10  (B) 8 

(C) 5  (D) 1 

26. dksf'kdk dh [kkst dc gqbZ \ 1 

(A) 1565 esa  

(B) 1605 esa 

(C) 1600 esa  

(D) 1665 esa 
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In which year cell discovered ? 

(A) 1565  

(B) 1605 

(C) 1600  

(D) 1665 

27. esa<d dk ân; fdrus d{kh; gksrk gS \ 1 

(A) 1   

(B) 2 

(C) 3   

(D) 4 

How many heart chambers Frog have ? 

(A) 1   

(B) 2 

(C) 3   

(D) 4 

28. fuEufyf[kr esa ls dkSu-lk jksx] fo"kk.kq ls gksrk gS \ 1 

(A) eysfj;k  

(B) gStk 

(C) Msaxw cq[kkj  

(D) ,aFkzsDl 

Which of the following disease is caused by virus ? 

(A) Malaria  

(B) Cholera 

(C) Dengue fever  

(D) Anthrax 
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29. fdl òksr ls eNfy;k¡ izkIr dh tkrh gSa \ 1 

(A) leqnz òksr   

(B) var% LFkyh òksr 

(C) (A) o (B) nksuksa  

(D) buesa ls dksbZ ugha 

Which resources Fish may be obtained ? 

(A) Marine resources  

(B) Inland resources 

(C) Both (A) and (B)  

(D) None of these 

30. dkSu-lh eD[kh esa e/kq ,d= djus dh {kerk cgqr vf/kd gksrh gS \ 1 

(A) ,sfil ¶yksjh (B) ,sfil lsjuk bafMdk 

(C) ,sfil esyhQsjk (D) ,sfil MksjlsVk 

Which bees have high honey collection capacity ? 

(A) Apis Florae (B) Apis cerana indica 

(C) Apis Mellifera (D) Apis Dorsata 

31. U;wVu ds xfr dk izFke fu;e fy[ksaA 2 

Write the Newton first law of motion. 

32. vkSlr 'kfDr dks ifjHkkf"kr dhft,A 2 

Define average power. 

33. D;k dkj.k gS gesa b= dh xa/k cgqr nwj cSBs gq, Hkh igq¡p tkrh gS \ 2 

What is reason that we can get the smell of perfume sitting several metres 
away ? 

34. ty-LFkypj vkSj ljhl`i esa D;k varj gS \ 2 

What are the differences between amphibians and reptiles ?  
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35. laØked jksx fdls dgrs gSa \ ,d,d,d,d mnkgj.k nhft,A 2 

What are infectious diseases ? Give one example. 

36. fdlh oLrq ds nzO;eku rFkk Hkkj esa rhurhurhurhu vUrj fyf[k,A 3 

Write three differences between the mass of an object and its weight. 

37. fuEu dks ifjHkkf"kr dhft, % 3 

(i) vkoZr dky 
(ii) vk;ke 
Define the following terms : 

(i) Time period 

(ii) Amplitude  

38. vk;u vkSj cgqijek.kqd vk;u D;k gksrs gSa \ 3 

What are ions and polyatomic ions ? 

39. ân; is'kh ds rhurhurhurhu y{k.kksa dks fy[ksaA 3 

Write three features of cardiac muscles. 

40. euq"; dh fdUgha rhurhurhurhu xfrfof/k;ksa dks fy[ksa] ftuls ok;q esa dkcZu-MkbZvkWDlkbM dh ek=k c<+rh gSA 3 

List any three human activities which would lead to an increase in the carbon 

dioxide conduct of air.  

41. (i) fdlkuksa ds fy, i'kq ikyu iz.kkfy;k¡ dSls ykHknk;d gSa \ 3 

 How animal husbandry practices are beneficial for farmers ? 

(ii) pjkxkg D;k gS vkSj ;s e/kq mRiknu ls dSls lacaf/kr gS \ 2 

 What is pasturage and how is it related to honey production ? 

vFkokvFkokvFkokvFkok    

OR 

(i) mRiknu c<+kus ds fy, dqDdqV ikyu] eRL; ikyu rFkk e/kqeD[kh ikyu esa D;k lekurk,¡ gSa \ 3 

 For increasing production, what is common in poultry, fisheries and bee-
keeping ?  

(ii) eNfy;k¡ dSls izkIr djrs gSa \   2 

 How are fish obtained ? 

S 
 


